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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Trend plot forP3-3 0

Warning: col

['minFViraw , 'minFVOraw’ ] is missing

minFVI
minFVO

1. 04 A

1.02 A

1. 00

0. 98 -

0.96

Warning: col

["ETcAlraw’, "ETcAl",

"ETcA2raw’,

"ETcA2"]

is missing

—@— ETcA

1.0

0.2

0.4

0.6 0.8 1.

0.8 -

0.6 1

0.4 -

0.2+

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

2600

2400

2200 -

2000

1800 ~

1600 ~

1400 ~

1200

Warning: col

['ECC’, 'ECI’, ’'ECO’]

is missing

Warning: col

["PHC’, 'PHI’, ’PHO’]

is missing

—@— PHopt

31.5 A

31.0

30. 5

30. 0

29.5

29.0

28.5 -

Warning: col

[’ WCperMraw' , 'WCperMavg'] is missing

—@— WCperM

—@— minDeltaM
—@— avgDeltaM
—@— stdDeltaM

30 A

28 A

26 A

24

22 -

20 A

——
+

——0—0—0—0—0—0—0—0—0—0-00-00000-00-00-14¢ .

begM
maxM
minM

—0—0—0— 0000000000000 00000
1

adjFVOR

Warning: col

["adjFVIRraw', "adjFVIR'", "adjFVORraw' ] is missing

Warning: col

[FRA* ] is missing

58

56

54 -

52 A

50 -

48 -

46 -

44

42 -

—@— beg wc

10

20

30 40 50

450 -

400 -

350 ~

300 -

250 -

200 ~

150

100

50

o postFgEtraw
—0— postFgEtavg
—@— postFgEt




- 100

FgDai ly

- 60
- 40




P3-3_0

o
-
T —
©
o
©
o
<
o
o0
c
0
(2]
£
L |
- N
= -
= o
—v.l_
©
o
.U.b - -
c
c
p -
©
=
)
= - = <
— ® a — o
o Qa [ 0o 0 O
= o = = =
W w a W wow
o
T T T T T T T T T T 0 T T T T T T T T T T T T T T T T T T T T T T T
o o o o o o o © © < N o o o ) © < o o o o o o o o o o o o o o o o o o
S S S S S S . . . . N 1Y — - — S S S S S S T S re] S ) S o S S =) =)
I S o © < 1Y o o o o o Ire) < 5] Y — < 1) ® N Y — — o ) < Y
— -

35




ETcP ETcldef ETcl

ETclis ETcPT

ETol ESo

ETbai

pR

T PPFD | pVPD

RH

1 1 1
ETcl ETcldef ETcP ETcPT ETclis ESo ETol ETbai pR pVPD |

PPFD

T

RH

1.0

0.8

0.6

0.4

-0.2

-0.0



ETcl

ETol

RH

e ° o o
1200 - . ge . o . ° < 1 ¢ 2
@ LX) «® e®
1000 - - Qe * . o o . o 1 o%e®
® o ® ° % °®
800 - . . . .
° . ° * o ° .' : °
600 1 ° . 1 ° 1 . ° | (] .
° .o O % o O 0% S ° ° .0
[
400 4 4 ° [ ] o .. o | @ () ° . ° ) ]
° o [ o 04° ® ° P ® 90 We o .. PS ° o [ o go
200 1 1 e 1 e ° 1 o o T ° o
T T T T T T T T T T T T T T T T T
° ° °
° ® [ ) [ @
1500 - 7 i @ ° | e o' i o S0
° X e © eco o
°°% o oo S o ©®
1250 - - - °%¢ o ° . 0@ . L)
° o3 o ° e o P L
1000 . . . .
(4 ° ® o ¢ ® o * °®
750 . ° 1 1o ° 1 ° | .o
° ° ° °
500 - . . . :
° ° ° °
T T T T T T T T T T T T T T T T T T T
° ° ° °
29 - [ i [ i i [ ] ([
® ( ® [
a o o° ° . ® .o o ° . o‘...o
201 o . & ° P s . . ® 0a® g ® o,
Ps ( ) PY o) % o o 09 o ° @ o° °®
° g o °® 0 4 o o o 4
18 ° ® o © oo
1e ] ° ] ] ° T °
° ° ° °
64 © o © i «© o i i o0 ° | «®
° % ° o ° o ® o le ¢ °
° ° ° °
14 - . . . :
°, ° ° ° ° e ©
° ° ° °
T T T T T T T T T T T T T T T T T
804 o Te i ° i Te
70 : : : 1
[ 1Y ® o e
0 ) °
60 - e ¢ e ® ° - °«° °
° °* o° ofe * ®w%. © o o : °
50 ° ® O. :q () @.. ‘b..) ° . .&‘.O ®
° ¢ o* ° ¢
°e o ° 4 ° e
i ° N ° N )
40 € o °* e % ¢e® o
4 ®e °
T T T T T T T T T T T T T
7 o. o. | ° o.:. _ ¢ o’ ..o
(7 ° ° e a0 © 09 o0°
(: (CJ e ay < ‘3. 50'.4 ofe °ed .‘ ®e
i ° i ® i °
300 % ° o) o .3 o ° (] e ...
° ° °
o. * ® ° ¢
° ) °
2001 ®e . ° ® 1 o °
100 4 - -
° ° °
T T T T T T T T T T T T T
250 500 750 1000 1250 500 1000 1500 12.5 15.0 17.5 20.0 22.5 40 50 60 70 80 100 200 300 400

ETcl ETol T RH I



hour

140
140
140
:40
140
140
145
:00
:20

100

80

- 60

- 40

20




P3-3

RE R B RECHIR TR K.

RER B HEREC/PHETRE, 7]

BfiE) | GEBIETK (D) | EHE (EH/R) | XK R

06:40 234 150.0 5| TiHEe06:40 REFEF (KEAERSE)
07:40 234 150.0 | FiHe07:40 REIEF (KREERE)
08:40 234 150.0 | FiHfe0s:40 REFEF (KEERHR)
09:40 234 150.0 5| TiHe09:40 REFEF (KEAERSH)
10:40 234 150.0 = FiHBe10:40 KREFEF (GRFAEREE)
11:40 234 150.0 5| Tffe11:40 KEFERF (RE1EREE)
12:45 234 150.0 5| THR012:45 KREIZF (KRR ELEE
14:00 234 150.0 FR| FHA@14:00 KENFZF (KRFAEES)
15:20 234 150.0 5| FHAe15:20 KENFERF (RE1EREER)
21t 2106.0 (97%) 1350.0 3203 KEC: 2080.0, PH: 6.5

RERZMMARELR R




FRV (ml plant-1)

ET (ml/hr/plant)

P3-3_0, Day=31 (2025-04-29)

0.6 - 81

00

VI, VO,'FRY, ET - VI, VO, FVI, EVO, FRV, adjFRV, ET

00

1207

00

T
—_
o
o
o

FRV (ml d-1)

- 500

TargetEC=2600. 0,  TargetSetEC=2080. 0

0.2~

TargetPH=6. 5, TargetSetPH=6.5

800 =

400

200 -

ByWoFv @D3

02:41: ET=1207 Fg=1350.0 Ro=6.0

R

T
I
I
I
1
I
]
]
I
1
]
I
1

e &

7
- 2000
- 1500
- 1000

- 500

1.0

2

16

17

18

19

20

21

22

23

i

E3
B

=
B

£33
B

E3
]

E3
B

=
B

£33
B

E3
B

E3
B

0.6 1

0.4+

0.2~

0.0
800 4

600 -
400 -

200 -

o

N varfing: kot Tf

’
S ,

"PPFD_obs’] is missing

25 -

20 -

15 4

7~ "To_obs'] is missing

80 ~

60

40 -
—— RH

Warning: lcol ['RH_obs’,

"RHo_obs’] is missin

0.6 1

0.4+

0.2~

0.0

0.0

0.2

0.4

0.6

0.8

1.

0

cumET (ml/plant)



hour

100

80

- 60

- 40

20



P3-3

BfiE) | GEBIETK (D) | EHE (EH/R) | XK R

07:00 210 150.0 F[ BRi1%e07:00 Fz1 (RAERESE)
08:00 210 150.0 = {RRiB@08:00 Fzh (FRFAREE)
09:00 210 150. 0 F BRi&@09:00 Fz1 (RAERE)
10:00 210 150.0 S {Ri%@10:00 F3h (FAEHSE)
11:00 210 150.0 =l RRiB@11:00 Fzh (REAEEE)
11:55 210 150.0 = RRiBe11:55 Fz (REAKEESE)
12:50 210 150.0 S| {Ri%e12:50 F3h (RAEBSE)
13:50 210 150.0 = RRiB@13:50 Fzh (RFAEEE)
15:30 210 150.0 = RRiB015:30 Fzh (REAKEE)
21t 1890.0 (97%) 1350.0 3203 KEC: 2080.0, PH: 6.5

EREBRK (210) 5FREA (234. 0) R, AIREM T % WREIERS X XER

ZRIASLPRIERE134.0 ml.
RE R i3k [B] RECEIB Hh ok
BE R E B HEREC/PH{E SRS, 7T

INA=A
BEFS

MR ELR R




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=30 (2025-04-28)

1 e e g e S S S EUS e Sy Ep P

100 A

50

VI, VO,"#R¥, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET

81

00 Warning: lcol [FVI',| "FVO’'] missing

- 1000

- 500

150 & PRV -

100 A

50 -

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.5

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0

400 -

200 -

]
Bylnit @D3} 02:41: ET=1361 Fg=1800.0 Ro=172.0

- 3000
7
- 2000

- 1000

0 1 2 3 4 5 6 7 8 9

10

11

19

20

21

T
>
o
o
o

22 23

BB | B | B | B | KB |E[F[KF[RK|[RK

E3
B

ES
5]

ES
5]

=
B

E3
B

E3 ES
B 5]

400 -

200 -

ByEt @D30 18:42: ET=1650 Fg=1404. 0 Ro=nan

p——& 4

b v~ W -

0 1 2

- 2000

- 1000

T
>
o
o
o

g | BB | BB

400 -

200 -

1.0 A

]
ByWoFv @D3ﬂ 02:41: ET=1176 Fg=1350.0 Ro=0
]

e o o o
P

- U

- 2000

"
i

- 1000

3 4 5 6 7 8 9

10

11

16

17

18

19

20

21

22 23

0.8

TQ
I ™

B | B | BB | B | B

E3
B

ES
5]

=3

B

E3
B

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

=
B

E3
B

E3 ES
B 5]

0.6

0.4+

0.2~

0.0
1500 4

1000 ~

500 -

[ J
—@— PPFD obs

| 4

| _obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



13.

12.

12.

12.

12.

12.

11.

11.

11.

11.

11.

.70 A

. 65

. 60 1

.95

.50

.45

.40 ~

Ji
NNl |

660 760
m=720,n FV0=0

T
800

T
900

M_E

7é5
m=510,n FV0=0

T
730

00 ~

98 -

96

94 -

92

90 -

——

M_w

5%5
m=780,n FV0=0

510

520

30 A

25 A

20 -

15

10 ~

——

M_W

780 785

790

12.

12.

12.

12.

12.

10.

10.

10.

10.

10.

m=510, FV0=0

8.5

8.4 4

8.3 A

8.2 4

8.1+

——

M_E

T
510

5%5
m=780,n FV0=0

T
520

. 80 A

.75 A

.70

. 65 A

. 60

. 99 1

.50 A

——

M_E

7é5
m=600,n FV0=0

T
790

70 A

65 -

60 -

55 -

50 -

——

M_W

600

665
m=840,n FV0=0

610

70 A

65

60 -

95 A

50 -

——

M_W

840

845

850

12.

12.

12.

12.

12.

12.

12.

.40 ~

. 35

.30 A

.25 A

.20 A

. 80 A

.75 1

. 70 A

. 65 1

. 60 ~

m=600, FV0=0

—@— M_E

600

605
m=840,n FV0=0

T
610

——

M_E

840

845
m=660,n FV0=0

T
850

70 —o—
65
60
55 ~
50 -

45 ~

40 -

M_W

660

665

670

13.0 4

12.5 A

12.0 A

11.5 4

11.0 4

10.5 A

12.

11.

11.

11.

11.

11.

11.

.50 A

.45 A

. 40 -

.35 A

.30 -

. 25 A

. 20 A

m=660, FV0=0

M_E

660

665

670

500

660 760
m=720,n FV0=0

T
800

900

00 -

95 -

90

85 A

80 -

75 1

70 -

——

M_W

720

725

730



hour

100

80

- 60

- 40

20



P3-3

BfiE) | GEBIETK (D) | EHE (EH/R) | XK ERF

06:55 210 150.0 F  BRi1%e06:55 F a1 (RAERE)
07:55 210 150.0 | {Ri%@07:55 F1 (REARESE)
08:55 210 150.0 5| {Ri%@08:55 F 3 (FRFAERSE)
09:55 210 150.0 5| {Ri%@09:55 F 3 (FAERHSE)
10:55 210 150.0 5| 1Ri&e10:55 Fz) (REAERS)
11:50 210 150.0 E BRige11:50 Fz1 CGRAERERE)
12:45 210 150. 0 5| (Ri%e12:45 F CGREAMEE)
13:55 210 150.0 5| 1Ri&e13:55 Fz (REAEHS)
15:30 210 150.0 F BRi&e15:30 Fz1 CGRAERESE)
21t]1890.0 (90%) 1350.0 3203 KEC: 2080.0, PH: 6.5

REX 1 B AR ECHIE R Kk
REXR BB HEREC/PHEER K, 7T

VNN =A
BEFZ

MR R 56




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=29 (2025-04-27)

R S it S
VI, vo,ggy, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1194

T
—_
o
o
o

FRV (ml d-1)

100 A 81 8181

50 - 500

00 Warning: lcol [FVI',| "FVO’'] missing 4 0

150 +

100 A
- 20 W

50 -

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.5

Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 3000

1
Bylnit @D3ﬂ 02:41: ET=1315 Fg=1650. 0 Ro=166. 0 +
1
400 A : - 2000
' *r—o—0—0—0—9
|
200 4 : L 1000
1
pb o -e le ® — \I/I |
|
0 —a a__la F — — 08000
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 | 20 | 21 22 23
7%z | f5 | 5 | A5 | A5 | A5 | A5 | BF | BF | BF | BE [ RE [ RE [ RE [R5 [R5 [ R [R5 [R5 | R5 | RS | AS | R
1
400 1 ByEt @D29 18:41: ET=1609 Fg=1566.0 Ro=nan : - 2000
L 4  J
200 A - 1000
p——& —@ \ 4
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 | 20 | 21 22 23
%z |%z| f5 | 5 | B5 | A5 | A5 | BF | BF | BF | BF | BE [ RE [ RE [ BB [ M5 [ M [ [’ [T | f |2 |%=| fs
1
400 1 ByWoFv @D3ﬂ 02:41: ET=1194 Fg=1350.0 Ro=3.0 - 2000
|
: @ ® ®
200 A I - 1000
1
p——o— 00— 0 \—r
] - e
1.0 —a e la & o E— — 0
0 1 2 3 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 | 20 | 21 22 23
sIEE B B BB | % | %% | B B %% % | % | % | % %8 %% |22 % 221282180
0.6 -
0.4 A
0.2 A
0.0
—_— 4
1500 -
o | _obs
—@— PPFD_obs
1000 -

500 -

40 ~

RH
[ ] RH_obs
20 - (] RHo_obs

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



16.

15.

15.

15.

15.

14.

14.

14.

14.

14.

14.

14.

T T T
500 600 700 800

m=720,m FV0=0

900

. 80 A

.75 A

. 70 1

. 65

. 60 1

. 95 1

.90 A

—&— M_E

7é5 750
m=510,n FV0=0

T
720

00 ~

75

50 A

25 A

00 ~

75 1

—— MW

i

5%5 550
m=780,n FV0=0

510

10

08 -

06 -

04 -

02 -

00 -

-o— MW

780 785 790

10.

10.

14.

14.

14.

14.

14.

14.

14.

14.

14.

13.

13.

13.

m=510, FV0=0

—— ME

5%5 5&0
m=780,n FV0=0

7é5 7é0
m=600,n FV0=0

780

80

75 -

70 A

65

60 -

—— MW

665 6%0
m=840,n FV0=0

600

75 A

50

25 A

00 -

75 -

50

25 A

i

840 845 850

10.

10.

10.

14.

14.

14.

14.

14.

m=600, FV0=0

.30 A

.25 A

.20 A

.15 1

.10 A

—0—

M_E

600

605
m=840,n FV0=0

T
610

10

05 A

00 -

.95 A

.90 -

. 85

. 80 A

——

M_E

840

845
m=660,n FV0=0

T
850

90 ~

85 -

80 ~

75 -

70 -

——

M_W

660

665

670

15.

15.

15.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

m=660, FV0=0

9.6

9.5 A

9.4 -

9.3 4

9.2 4

—0—

M_E

T
660

T
665

50

25 A

00 -

75 A

50 -

25

00 -

T
600

T T
700 800

m=720,m FV0=0

[{=]

20

18

16 1

14

12 1

10 4

M_W

720

725 730



hour

105 -

215 -

105

105

105

125

:50

:00

:30

:30

100

:00 -

80

- 60

- 40

20

&% "/é y S




P3-3

BfiE) | BRI (D) | EE (EH/AR) | XK R

07:05 210 150.0 = {RRiB@07:05 Fzh (FRFAEEE)
08:05 210 150.0 (£ =| {Ri%e08:05 F& (FRAEEE)
09:05 210 150. 0 FA| {Ri%@09:05 Fzi (RKAMEEE)
10:25 210 150.0 FA| {Ri%@10:25 Fz (RAEEE)
11:50 210 150.0 = BRiBe11:50 Fzh (REAEERE)
13:00 210 150.0 = BRiB@13:00 Fxh (GRAEREE)
14:30 210 150.0 = RiB014:30 Fzh (RAEESE)
16:30 210 150.0 [Z=| {Ri%e16:30 Fz (REAERSE)
=it[1680.0 (8%) 1200. 0 3203 KEC: 2080.0, PH: 6.5

REX 1 B AR ECHIE R Kk
RER B HEREC/PHELERK, WRER

MEARBR TR




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=28 (2025-04-26)

1 e g g S S B S g

100 A

50

VI, VO, 88V, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
81

00 Warning: lcol [FVI',| "FVO’'] missing

150 & PRV Ll __

100 A

50 -

- 1000
- 750
- 500
- 250

0

- 25

- 20
=

- 15

- 10

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.0

TargetPH=6. 5, TargetSetPH=6.5

Warning: lcol ['PHB’,| 'PHC’'] missing

400

300

200

100 A

]
Bylnit @D3} 02:41: ET=1174 Fg=1500.0 Ro=144.0

L 4
F

- 2000

- 1000

PN o
1 2 3 4 5 6 7 8 9 10 11

12

13

16

17

18

20

21

22

23

400

]

B[ [ [ [ R [R5 [R5 | RS | F5 | A5 | FS

=
B

E3
B

=
B

E3
B

E3

=
B

E3
B

E3
B

ES
5]

300

200

100 A

0 1

ByEt @D28 18:39: ET=1440 Fg=1266.0 Ro=nan

0 1 2 3 4 5 6 7 8 9 10 11

____1____:“1

- 2000

- 1000

20

21

22

23

400

5 | KB | kKB | B | B | B |KB[F [ B[ B | K

=
B

B

%=

ER

%=

%=

300

200

100 A

1.0 A

]
ByWoFv @D3ﬂ 02:41: ET=1029 Fg=1200.0 Ro=4.0

- 2000

- 1000

12

13

18

20

21

22

23

0.8

=
B

E3
B

E3
B

ES
5]

%=

ER

%=

%=

%=

ER

%=

%=

0.6

0.4+

0.2~

1508 3

|
| _obs

—@— PPFD obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=510, FV0=0 m=600, FV0=0 m=660, FV0=0

- ME 9.70 4 _4 ME 1011 g ME 10,41 o M E
9. 65
10. 0 - 10. 3 -
9. 60
9.55 9.9 10. 2 -
9.50
9.8 10. 1 -
9. 45
9. 40 9.7 10. 0 -
T T T T T T T T T T T T T T
500 600 700 800 900 510 515 520 600 605 610 660 665 670
m=720,m FV0=0 m=780,m FV0=0 m=840,m FV0=0 m
o M E .01 o M E 1.1 7 o ME 18.51 o MW
10. 9 - ]
1104 18.0
10. 8 - 17.5 -
10. 9 -
10. 7 -
17.0 -
10. 8 -
10. 6 -
16.5 -
10. 5 - 10. 7 -
T T T T T T T T T T T T T
720 725 730 780 785 790 840 845 850 500 600 700 800 9
m=510,m FV0=0 m=600,m FV0=0 m=660,m FV0=0 m=720,m FV0=0
- M 16.40 1 _o MW 1719 _q MW 17.8 1 _4 M
17.7 -
16. 35 17.0 -
17.6 -
0-0-0-0-0-0-0-0-0-0-0-0-0-0-90 | 16.30 16. 9 -
17.5 -
16. 25 16. 8 -
17. 4 -
16. 20 16. 7 - 17.3 -
510 515 520 600 605 610 660 665 670 720 725 730
m:780,m FV0=0 m:840,m FV0=0 m m
—o— MW 18.3 77 _o— MW
18.2 -
18.1 -
18.0 -
17.9 -
17.8 -
780 785 790 840 845 850



hour

100

80

- 60

- 40

20



P3-3

BfiE) | BRI (FD) | EE (EH/AR) | XK R

07:10 210 150.0 =] {Ri%@07:10 F (REAHRRESE)
08:10 210 150.0 5| {Ri%e08:10 Fzh (KAL)
09:10 210 150.0 S {Ri%@09:10 Fzh (FAMERSE)
10:10 210 150.0 El BRi&e10:10 Fzh CGRAEEE)
11:45 210 150. 0 5| 1Ri%e11:45 F5 GREAERE)
13:15 210 150.0 S| {Ri%e13:15 F3 (RAERSE)
14:45 210 150.0 5| Rike14:45 Fz) (GREAERS)
=3t+11470.0 (7%) 1050. 0 3 HKEC: 2080.0, PH: 6.5

REX 1 B AR ECHIE R Kk
RER B HEREC/PHELERK, WRER

MEARBR TR




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=27 (2025-04-25)

1000

750

500

250

0

- 25

- 20
=

15

10

2000

1500

1000

500

2000

1500

1000

500

2000

1500

1000

500

150 Fo—————F——————F——————F——————F——————F——————F——————F-—————fo—— -]
VI, VOR®RV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 9651
8181
100 + B
50
00 Warning: lcol [FVI',| "FVO’'] missing b o
0 -
150 & FRV — ME P
maxM
100 +
50 i
1.0
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.5 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit @D3ﬂ 02:41: ET=1131 Fg=1350.0 Ro=123.0 ?
400 - I
1
! —$—8 8 8 |
1
200 ~ 1 B
1
1
: i
—o—o—Lo—o—e S——
i VS —
0 0 1 2 3 T 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
400 i 5 5 i i 5 5 i i 5 G A B 5 G A B 5 B A B 5 G 5 |
7 |
ByEt @D27 18:42: ET=1304 Fg=1116.0 Ro=nan : i
—o—o—0—o
200 | e—o—o—o |
h— o —& — 6 &6 & i
0 p——ap o P N r/n/ i S —
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
O 20 0 O 0 I 0 0 O 0 0 0 0 O R
7 |
ByWoFv @D3ﬂ 02:41: ET=965 [Fg=1050.0 Ro=6.0 |
1
1
200 ~ : B
1 |
p——& :
1 1
1.0 ‘—‘0 ] aE >
0osl B | B | S
0.6 -
0.4 1
0.2 A
0.0 ° | A
1500 +
[ ] | _obs
—@— PPFD obs
RH u
o RH_obs
60 7 RHo_obs
40

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



11.5 9
—o— MNE :
11.0 - 9.
9.
10.5 4
9.
10. 0 + 9.
9.
9.5 1
9.
T T T T T
500 600 700 800 900
m=720,m FV0=0
1.0
11.
0.8 A 10.
10.
0.6 -
10.
0.4~
10.
0.2+ 10.
Warning: col ['M_E'] missing
10.
0. 0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0
m=510, FVO0=0
16. 75 - 1.
—-&— MW
16. 50
0.
16. 25
16. 00 0.
000000000000 090
15. 75 - 0.
15. 50
0.
15. 25
T T T O.
510 515 520
m=780,m FV0=0
~ MW 19.
18. 8
19.
18. 6
19.
18. 4 4
19.
18. 2 4
18.
18. 0 4
18.
780 785 790

m=510, FV0=0 m=600, FV0=0
1.0
07 —o— M_E
8 0.8 4
7_
0.6 -
6_
0.4
5_
4 - 0.2+
Warning: col ['M_E'] missing
3_
T T T 00 T T T T
510 515 520 0.0 0.2 0.4 0.6 0.8
m=780,m FV0=0 m=840, FV0=0
00 A . M_E 11. 4 4 - M_E
95 +
11.3 4
90 -
85 1 11.2 1
80 -
11.1 4
75 A
70 11.0 4
T T T T T T
780 785 790 840 845 850
m=600,m FV0=0 m=660,m FV0=0
0
16. 3 - MW
81 16.2
6 1 16. 1
4 16.0 -
2_ 159_
Warning: col "MW 1] missing
15. 8 4
0 T T T T T T T
0.0 0.2 0.4 0.6 0.8 .0 660 665 670
m=840, FV0=0 m
61 o muw
4_
2_
0_
8_
6_
840 845 850

.0

m=660, FV0=0

10. 4 A

-e— ME

10. 3 A

10. 2 4

10. 1 4

10.0 4

9.9 -

T
660 665 670

—— MW
19 4

18 1

17 4

16

wiv, of

560 660 760 860
s m=720,n FV0=0

0.8 A

0.6 -

0.4 A

0.2 A
Warning: col "MW ] missing

00 T T T T
0.0 0.2 0.4 0.6 0.8

1.

0



